New Commerce Coaching Center

Finance Final Model Test -1
Time : 30 Minutes. | Total Questions : 30 | Total Mark : 30 X 1 = 30
Postive Mark For Every Question : 1 | Negative Mark For Every Question : 0.25
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A. o

B. eafFe oy
C. G5 Y=

D. 5 =i

Correct Answer : sToI

2) Markowitz (F19 ©g SHC @l S@mis q1e=?

A. colioreifers
B. e« it
C. CAPM

D. el Scest

Correct Answer : ¢oi5ifere

3) ©iFen e forale 7gel-

A. 3 3= ot
B. ¥ 3 =7

C. Il g A
D. f@a 3 A

Correct Answer : Il 1 A
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A 1&il
B. i &iii
C. i1 &iii
D. 1 &1 & i1

Correct Answer : 1 & 11 & iii
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A. T G
B. 5ef® 7=0w@
C. o2& 759
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D. o e
Correct Answer : O%< 7287

6) s @ Afdw?
e FifeeRcet Rt w4t 270?
A 1&ii
B. i &1iii
C. u&iii
D. 1 &1 & i1

Correct Answer : 1 & i1
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br,q¢0 Bt
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Correct Answer : b-,b-90 BIt
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A. R
B. 5
C.
D. 38

Correct Answer : 8
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3,85y
q,38b
8,599
0E, 50

SN w>

Correct Answer : R,85Y
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A. TGRS
B. craw

C. vergia A0l

D. s=oy

Correct Answer : Bxﬂﬂfﬁ RS

11) et 30 2| g owq 637

A. 8
B. ¢f
C.of6
D. xf6

Correct Answer : 2

12) SAITCR @217 I 7 27 4T 227

A. & W
B. 6 sm
C. 5 5

D. v&3f&
Correct Answer : 5&9q %

13) fesa @i 11d<s?

JIETICT IS TSI ATF (G TS I STl CeT-
A 1&il
B. i &iii
C. i & 1ii
D. 1 &1 &iil

Correct Answer : 1 & ii

14) (T I0TF (TTM SH ©Ie & 0?2

A. f&et 395 7%
B. S} I©

C. gt 7o

D. I 1%

Correct Answer : foaZa 7@




15) fsa @i (o2
X[y N 0L (BT Jel -

A 1&1l
B. 1& 11
C. i &iii
D.i& 11 &iil

Correct Answer : 11 & 111

16) ez i e *IF 8 0T O NG (FIF LT T2 fqwytie?

A. siHlifes
B. fzcst®
C. ¥iig®
D. garg®

Correct Answer : A9

17) 9029 F99 &0 Jfa ¢AteT 0o 16 96¢q?

A. TSRS T#T7 ZT M1

B. vefe & i oMt

C. wfefs 3717 g1 it

D. crm =fers Sicae ' g #Miea

Correct Answer : 541f® T g #i1ta

18) @A I 8 M (AT FIA 2hSl AT AT FACS 23?

A. SR ¢RI
B. Saift&ia e Eme
C. I8 @TRma

D. RIES

Correct Answer : I8 Q=TI

19) @3 Fi4q a5 FEivca Fe@ [ @90 azeree?

A. IRR=PBP
B. IRR>COST OF CAPITAL
C. IRR<COST OF CAPITAL
D. IRR>NPV

Correct Answer : IRR>COST OF CAPITAL
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2f T2 AT Aeq A TG ¢000,8000 TR Yooo HiF

A. Suevo B!
B. >@95o0 GBIt
C. >9¢a8 5wt
D. >yvvAq B

Correct Answer : S>buq 515
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A. Y%
B. w.5%
C. 35.3%
D. 3%.9%

Correct Answer : b.v%

22) [5a @Aibre SIgents eFe (el &7

A. WFETFF T
B. ¢ 1% T

C. f5 387 =1
D. SI@:ET T

Correct Answer : ¢ JI< ANY

23) 2= TERIAS A=EACI NS (6?7

A. NPV
B. IRR
C. ARR
D. PBP

Correct Answer : NPV
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A i&il
B. 1 &1
C. i &iii




D. 1 &1 &iii

Correct Answer : 1 & 1ii
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A. TEE TS
B. i =ife
C. Wb eme

D. IHiwE aE
Correct Answer : I IT[E S

26) ST =15 g1 Jface TP fesa @16 I 2 =12

A. T
B. =ifds I
C. sz I
D. IwE

Correct Answer : =Ty 3%

27) =itv ferfsiceees s AT w92

S INTE a3 e N 2R b % Clbife SR 29 3% 93 /BT 7R b.¢ |

0%
8%
¢%
Y%

SN w>

Correct Answer : 8%

28) =i fIfeEres esife SIRe g9 $97?
ST e a3 fee Siem 29 v 9% cAltreifne SR =19 53% 93 /o7 s.¢ |

8%
¢%
%
4%

©nw>

Correct Answer : 8%

29) @17 ©tg 0T =l s “Ifasier w21 23?

A. CAPM
B. WACC
C. DPS




D. EPS

Correct Answer : CAPM

30) {1 @ =0T (@G T2

A. Aogife St g9 @ =
B. gojif¥e Sits g9 9 &
C. Yfoye uiewe o9 @ =x
D. e W I

Correct Answer : Joif*e 7 7 @ =7




